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PHYSICS Hifw e
1. A charged ball B hangs from a silk 1. T 1099 712 B %1 70 F 41 S & oM
thread S, which makes an angle o with T, ST ST SRR =TT 3 P T
‘ i 1eet P
a large charged conducting sheet‘ as A @ TR e R Y s
shown. The surface charge density o
of the sheet is proportional to R TR e o T Irqiees §
+ +
+ +
i N
HO\S Je\s
Pl P+
+ +
+ +
B B
“A) tane A) tang
B) sino : B) sing
C) coto _ C) cote
D) cose D) cose
2. An object is placed at 10 cm in front of 2, UF 9% e 990 F EFA Y 10 cm W
a concave mirror of radius of curvature @ T 2 it s Y 9 @ 15 om i =
15 cm. The magnification and nature of A 3R sRr A TR
image is
A) 27, orgett, offar -
A) 2 times, real, inverted
B) 2 71, arafee, @<t
B) 2times, virtual, erect
C) 3times, real, inverted C) 3, i, S
D) 3times, virtual, erect D) 3 7, aveias, @t
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3. Assume that light of wavelength 6000 A
is coming from a star. What is the limit
of resolution of a telescope whose
objective has a diameter of 100 inch 2

A) 1.8x 1077 rad
B) 2.9 x 107 rad
C) 3.4x 107 rad

D) 4.2 x 1077 rad

4. Above curie temperature

A) A diamagnetic substances
becomes paramagnetic

- B) A paramagnetic substance
becomes antiferromagnetic

C) A paramagnetic substance
becomes ferromagnetic

D) Aferromagnetic subst'ance
becomes paramagnetic

5. The centripetal force required to keep a
body in a uniform circular motion
depends on its

A) radius of the path
B) mass only

C) speed only

D) all these _

AT A

3. W S atn 3= 6000 A ¥ vem A
MW R | TR F WA e T 2 R
TR H I 10039 2

A) 1.8x 1077 rad
B) 2.9 x 10~7 rad
C) 3.4x 1077 rad

D) 4.2%x 107 rad

4. ITF R AIHH
A) vt swehig gerd doAdf # ofafia

B) Jidnfes waref antiferro gy o
EESEl

C) ¥minfew vard wilg graeh s
D) &% T=hig qard s e

5. S TR TR Y A e
anifra g @

A) T H e
B) ¥ae s dom W
C) %@ T |

D} ot w
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6. Current resistivity of a galvanometer is

NA AB
" k8 ®) kN
NAB NK
kT ®) 7B

~ 7. Magnetic moment of a current (1) carrying
circular.coil of radius ‘'r' and number of
turns ‘n’ varies as

i 1
Al Bhe
C)r D) 2

8. In a magnetic hysteresis loop, the value
of B, when H = 0 is called

A) coercivity
B) susceptibility
C) retentivity
D) permeability

9. In a series LCR circuit, the voltage
across R, C and L is 10 V each. The
value of the applied emfis

A) 30V B) 20V

C) +300 v D) 10V
10. An arc lamp requires a direct current of
10 A at 80 V to function. if itis connected

to a 220 V (rms), 50 Hz ac supply, the
series inductor needed for it to work is

close to
A) 80H B) 0.08 H
C) 0.044 H D) 0.065 H

6. faieft gagsiierr aroandt Y &

NA AB
A kB B) YN
NAB NK
C) v D) 28

7. Fsreht (1) i bt TR IR e
e v 3R g &1 @ '’ wheger g

1
A)FE B) -

C)r D) rR

8. T it = A B 91 e, W@
H = 0 weamar 8
A) TR
B) wagTeiterar
C) fatem

D) genefierar
9. ygtEdi LCR #i@el o 1t Jiees & 9N

R, C 3R L 10 V 5 %1 3| L ar aran
T emf 3 8

A) 30V B) 20V
C) 800 V D) 10V

10. T 371 ok (WhiT) ® ey fosrelt 10 A
¥ 80 V farensrar &) setd 2| TR @
220 V (rms), 50 Hz ac oo & SR ot

TG I i wod & 5w wiE B
A) 80 H B) 0.08H
C) 0.044 H D) 0.065 H

D Page No. 5 5CE
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11. A cube of side ‘I' encloses a charge ‘q’

at its center. The flux of E through one
of its surface is

el
A) 280

9
B) 480

9
C) 680

|
D) 880

. —
12. In a uniform electric field £ = 10 N/C
as shown, V, — V is equal to

A

2m/ \2m
—>
E
B/ om \?‘ .

—

A) -5V
B) +5V
C)-10V
D) +10V

AU AN

11. AR T 90T 7 7 | 96 ‘g F g R

IR’ E & yiedH gran 8, 9 Sudh gag fraht
Bt ?

g
A) 28

a9
B) 480

9
C) 6gg

q =
D) 880

12. & uaM foseht &= E = 10 N/C framn |
TN, Vo — Vg F IR R

A
> |
2m/ \2m
> —
B/ \CE
2m N
A} -5V
By +5V
C)-10V
D) +10V

Page No. 6 SCE
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13. When a wire of uniform cross section a,
length ! and resistance R, is bentinto a
complete circle, resistance between any
two diametrically opposite points will be

A BZ
B)%

C) 4R
D) B/

14. Acell supplies a current of 0.9 Athrough
2 Q resistor and a current of 0.3 A

through 7 Q resistor. The internal
resistance of cell is

A)2Q
B)1.2Q
C)y1Q
D) 0.5Q

15. Acharged particle is released from rest
in a region of uniform electric and
magnetic fields which are parallel to
each other. The particle will move in a

A) circle

B) straight line
C) helix

D) parabola

13. W I1geey ai=de a, e 1 it IRy
R % ARt 3T gyl 7% o g A, @ @)
=i Tl foig % e & widy 2hn

A BZ
B B,
C) 4R

D) B/

14.'@%1%@3:&% 09AFEW 2 O
wieives o Rrereft 0.3 AT 7 © wfvdes
A e 2, 6 i whiy A 2

A)2Q
B) 1.2Q
Cri1 0
D} 0.5Q

15. MR w0 g &7 8 UF aum faerl ofit
ﬁmaﬁa%aﬁmﬁ%wr%%,sﬁqmgﬁ
[ R, | 91 7 e

A) 99
B) itht Yar
C) gefom g

D) Wawd

'LPage No. 7
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16. At room temperature a p-type

17. Aballrolls off the top of stairway with a/

18.

semiconductor has

A) equal number of free electrons and
holes :

B) a large number of free electrons
and a few holes

C) a small number of free electrons
and a large. number of holes

D) neither electrons nor holes

horizontal velocity of magnitude 1.8 m/s.
The steps are 0.20 m high and.0.20m
wide. Which step: will the.ball hit first ?
A) first

B) second

C) third

D) fourth

Two unequal masses are tied together
with a compressed spring when the cord
is burnt, releasing the spring, the two

. masses fly apart with equal

A) Momentum
B) Speed
C) Acceleration

D) Kinetic energy

G A

16. A 1 AHM & p-2ET THETE 2

A) STEEETT R I S 39T (gUa)
B) %3 €&t F1 $1 309 S Y 9%

C) T e 1 %l ToweH 37K 7€) wem
BT

D) 7 & woRH ¥ € 27

17. G 2 it % SR & qomEER g

37T h1 TREATOT.8 m/s. 1 e 0.20 m St
30.20 m =<1 91 Hew (step) T
e WO 7

A) q&e

B) gwu
C) duq

D) =en

13.amﬂm#@mﬁ§ﬂﬂmw

I T oAt 59 Tt B 14 99 9 v
T 1Y 3T 38

A) i
B) TR
C) &

D) wiest S

SCE
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19. Amass ‘m’is placed at a point B in the
gravitational field of mass M. When the
mass m is brought from B to near point A,
its gravitational potential energy will

A) remain unchanged
B) decreases
C) increases

D) become zero

20. There is an air bubble within a liquid. it
will act as a

A) convex lens
B) convex mirror
C) concave lens

D) concave mirror

21. The magnetic field of a given length of
wire for single turn coil, at its centre is B.
Then its value for two turns coil for the
same wire is '

B
A)Z

B
B)‘2-

C) 4B
D) 2B

19. B m = 0 forg B W Teetstvr & v M
¥ W@ TN | 99T m i B R e A
THIT ST T G JHehl Tty &
wife

A) IqfEfdd @t 2
B) = & Wt @ (Tred)
C) =g 8
D) ¥ B 8
20, 3T &1 F TAGH 39 & B, A W
E(m)aﬁﬁﬁ
A) Ut o |
B) 3w g9
C) vaad &9
D) s1add guu

21, grashia & fig e A <t wreng it gueeh
FwAEF I AM BR IS aRF @

FUSiEl 1 e =1 g ?
A)

Moo A

B)

C) 4B
D) 2B

F’age No. 9 5CE
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22, A photon with energy E is characterised 22. WF HIEH i Sl E H wishfaes e g |
by a wavelength given by |

8 YR e s g @
he
A) E he
A) —
E
= |
B) -3 E |
he —_
B) hc? |
Ec? | 2 |
C) — Ec :
h | €) h 4.
2 "
c 2
Dy =— C

23. When the velocity of the electron i B E': ; e a; = ;'g'i"%aaa'g"l =
3 en the velocity of the electron is . -
-increasing the de-Broglie wavelength of

the electron . A) Tgar ¥
A) increases

B) wem
B) decreases C) ad wa 2
C) remains same D) a

D). varies sinusoidally

24, & T &% | T Tt seafla B &

24. In gamma ray emission from a nucleus A) T Sie ) T seer &
A) only proton number changes B) @& WA 3R =g 3 Y T See 2
B) both the neutron number and proton C) 7@ W sk A # TEw § 51
number changes
_ EESIEE R EIG
C} thereis no change in proton number . N
and neutron number D) T 3w TG 1 HeA s @

D) only the neutron number changes
D E’;ge No. 10'] 5CE -
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25. A2 volt battery is connected across AB
as shown in the figure. The value of the
current supplied by the battery when the
positive terminal of the battery is
connected to B will be

lﬁ', 50

D, 100

0 o

A B
B) 0.2 A
D) 0.133 A

A) 0.1 A
C)04A

26. The reactance of 25 uF capagitor at the
AC frequency of 4000 Hz is

A 20
T

B) \EQ

C) 100
D) yioo

27. A concave mirror of focal length ‘f’
produces real image n times the size of
the object. The distance of the object
from the mirror is

(n-1f (n+1)f
A) S B) -
nf f
0) a3 D) 257

26, T Fm 1 o 2 S f el W AB ¥
IR & ST 741 R | 1 V2 ¥ TS

A A B A et o a9 Foh F 7w

AR o ot forega ) e 2
> AN
D, 50
}<I_ M
D, 100
0 o
A B
A) 0.1 A B) 0.2 A
C)04A D) 0.133 A

26. 4000 Hz % AC FHR T 25 pF iRt
o) gfcfsha foresh gt ?

n+1

A 20
w
[5
B) \/-;Q
C) 10Q
D) Viog
27. T Jaae 1 A I = P oawg &
SR A n T SR T o s |
% g ) & frerh g w7
p) = B) (n+f
n n
nf nt
) 5 i

D Page No. 11 5CE




8. Which of the following is conserved
when light waves interfere ?

A) Intensity
B) Energy
C) Amplitude

D) Momentum

9. Aconvex lens of focal length 0.25 m kept
in contact with a concave lens of focal
jength 0.15 m. The power of the
combination is

A) —0.75D
B) - 0.375 D
C)-1D

D) —2.667D

i0. If the distance between the earth and
the sun becomes half of its present
value, the number of days in a year
would have been

A) 129 days
B) 64.5 days
C) 182.5 days
D) 730 days

1. If an electron has an initial velocity in a

direction different from that of an electric

field then the path of the electron is
A) straight line B) circle
C) ellipse D) parabola

TG

28. S W G0N § S STeraT B OF T 9
o afaem AT 7

A) s

B) St

C) fereeftofan
D) wifcmmn

29, I=TIet F I FE T 0.25 m § R
3 0.15 m FHEE TR F IAqQ a9
1Y T 91U q1 3T eF & e o feadt
&7 BT 7
A) —0.75D

B) —0.375D
C)-1D
D) —2.667 D

30. MR yP R PF A P @ @
et & e, o we & A e a7
A) 129 &
B) 64.5 &
C) 182:5 e
D) 730 &

31. ok w Fifvea R & gemesli =1 g

3, T &= @ fm ?, @ 3@ ganesf
HOT RSN 7 :
A) it @ B) Im

C) dga D) T&Ee™

Page No. 12 5CE
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32. In a parallel plate capacitor of 30,
capacitance C, a metal sheet is '
inserted between the plates parallel to
them. The thickness of the sheet is
half of the separation between the
plates. The new capacitance is

A) C
B) 2C

0)%
D 9,

33. Thetemperature co-efficient of resistance

of a wire is 0.00125/°C. At 300 K its 33.

resistance is 1 2. The resistance of the
wire willbe 2 2 at

A) 1154 K
B)-1100 K
C) 1400 K
D) 1127 K

34. Two identiéal coils are placed co-axially

with their centers separated by a 34,

distance of 0.1 m._ A current of 0.5 A _
passes through each. coil in opposite
direction. If the radius of either coil is
0.05 m and the number of turns is 40,
the resultant magnetic field at the centre
of either coil :

1 A) 2288x1074T.
B) 2513 x1074T
C) 2.738x 1074 T

D) zero

T FHA Wie, iR & wfeew ¢ # =
el & Ui § U F T Hes w8
o wimg 3R 39 eI T AT 3 i 5
e & aaT | AT IEeRT 497 Ffdw
() Rt St 2

A) C
B) 2C

C)%
D) 9,

TR & SR =BT 7RI W19 0.00125/°C 21
300 K 7 3o wfeilig 1 Q | O 1 wRdy
F92 Q Fm?

A) 1154 K
B) 1100 K
C) 1400°K

' D) 127K

aﬁamﬁ‘ﬁﬁm-@mma
feieie 0.1 MR A R@I IR 1 0.5 A
1 foregga 30w gveeh § fouda fam o
VTR eIl ® | Al yeie el 1 i
0.05 m & 3R 40 =1 34 Higr 9w 2, @
TR & T e gueedt o Aeen aRorm
120 ?

A) 2288 x 104 T

B) 2.513x 1074T

C) 2738 x 104 T
D) i

Page No. 13
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33. The energy stored in an inductance is 1 J

36.

37.

when a current of 0.1 A is established
in it. The seif inductance of the coil is

A) 50 H
B) 25 H
C) 200 H
D) 2.59 H

The average translational kinetic energy
of air molecules is 0.04 eV, Boltzmann
constant K = 1.38 x 1023 Jk~1, The
temperature of the air is

A) 290 K
B) 300 K
C) 310K
D) 320 K

The total mechanical energy of a spring-
mass system in simpie harmonic motion

1
is E = B mw2A2, Suppose the

oscillating particle is replaced by
another particle of double the mass
while the amplitude A remains the same.
The new mechanical energy will
become

A) 2E

a)%

C) 2E
D) E only

L]

35. 01 AT F Rm o e & 1 J W
ST R | T ST 1 e ey T B 7

A) 50 H
B) 25 H
C) 200 H
D) 2.59 H

36. 1Y MY ) TR WA T Sl
0.04 eV 2 | sivesiy f@R
K'=1.38 x 10723 JK-1| a7 1 qmamsy
feramT 8P 7 :

A) 290 K
B) 300 K
C) 310K
D) 320 K

37. mmwuﬁmaaaaﬁanmaﬁw
WIH I E = - m w2 A28 | AR e,
Torelt oo 3 68 T some aeg @
et T e et sueht Aol A a2
¥ T Wi St e 2 ?

A) 2E
B) &/

C) V2E
D) ¥ad E

sce

T T —
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38. The ratio of work done by an ideal
diatomic gas to the heat supplied by the
gas in an isobaric process is

A 54 B) %
o) % D) 2

39. A satellite revolves around the earth in
an elliptical orbit. Its speed is

A) same at all points on the orbit

B) greatest when it is farthest from the
earth

C) greatest when it is closest to earth

D) none of the above

40. In a mechanical longitudinal wave, the
particles of the medium

A) vibrate in a direction perpendicular
to the direction of the propagation

B) vibrate in a direction parallel to the
direction of propagation

C) move in circles

D) move in ellipse

41, Aspring of spring constant 5 x 10% N/m
is stretched initially by 5 cm from the
unstretched position. Find the work
required to stretch it further by another

S5cm.
A) 18.75J B) 1.875J
C)a25d D) 254

38. TwRTE v wiE % il w e e
g g e e o 3 o A A

ST it g TR ?
A %
c) %

B) %
D) 2

39. oty ¥ =i 7R T SuwE degarenn wvew A
e & | Seeh 7 = el ?

A) mm@ﬁﬁaﬁﬁ@aﬁmwﬁrﬁ‘
B) v 9 fir & vl o= tfier gl
C) & =8 iy % THu Erft oar 3iftres Bl
D) T & F T |

40. T T, 0T § HTEAW i FH
A) derw i o & @ fen A $
B) Tt i e & gt fewmn # &
C) gu H =ed
D) el § 9w

41, R Er 5 x 103 N/m BFar T & &t
stfrega s & 5 cm fowga R 1 fR 5 om

Frear =6 3 fe 21 R el e 9 ?
‘A) 18.75J B) 1.875J
C) 25J D) 2.5J

D Page No. 15 5CE




42. What s the torque of force

43.
* density remaining the same then the

44,

- TANYAY M
F =-8i+ J+5k acting at a point
whose position vector is
2 e A N I\,?
r=7i+38j+k *

P FAN M
A) 14i-38j+16k

N A I
B) 141+38 j+16k

N FA N
C) 21i4+3j+5k

FAN Fal A
D) -21i-8j-5k

If the radius of the earth reduces by 4%,

escape velocity will
A) increased by 4%
B)- increased by 2%
C) decreased by 4%

D) decreased by 2%

Eight equal drops of water are falling
through air with a steady velocity of
10 cm s~. If the drops combine to form
a single drop big in size, what is the
terminal velocity of this big drop ?

A) 40cm s™
B) 0.4cms™
C) 2ems-!

D) 4cms™?

[T

42. G Rifvya farg w Pt Hftm e §
- N AN AY
fofiafm r =71+3 j+k 2 355 S
FARNRINAY N

-3
HTAF =-8i+j+5k T EmM ?

N N N
A) 14i-38j+16k
PN N N
B) 14i+88 j+16k

N FAN N
C) 21i+3j+5k

3 N N N
D)--21i-8j-5k

43, TR wet = s 4% W g R ok
IHRT ETT Ia1 1 1 el 2, A o= gl
371 Fora=T € ?

A) 4% § JAftrs
B) 2% & it
C) 4% T &H
D) 2% @59

44, T ABETAF g TNH 10cm s~ F
ffrmara R R s 1aRk I wf

TF B 93 AR Y T 3 o af 0 -

diwraret am e 8 7
A) 40 cms™!
B) 0.4cms™!
C) 2ems™

D) 4cms™!

Page No. 16 5CE
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45. Acube is subjected to a uniform volume

46.

47.

48.

compression. If the side of the cube
decreases by 1%, the bulk strain is

A) 0.01 B) 0.02
C) 0.03 D) 0.06

The unit of impulse is same as that of
A) linear momentum

B) angular momentum

C) moment of inertia

D) force +time

A drunkard walking in a narrow lane
takes 5 steps forward and 3 steps
backward followed again by 5 steps
forward and 3 steps backward and so
on. Each step is 1 m long requires 1 s.
The time the drunkard takes to fall in a
pit 13 m away is

A) 13s
B) 32s
C) 37s
D) 49s

For the same horizontal range, in how
many projections can the object be
projected ?

A) 4
B) 3
C) 2
D) 1

45.

T MR <hl 89 it F it R e
? | afE SRR 1 T B 1% T S 2, &

ik a1 FReT g 7

46.

47.

48.

A) 0.01 - B) 0.02

C) 0.03 D) 0.06

3TTam it 3R 30 A s gam R 7
A) T gam

B) =ivfig wa

C) Sieea &1 &

D) st + O™

T foererre et Wt & Ser ge ot wew
Y 3R i w1 e it wam ot ik
T Fen N9 ofk Y T W R | SEw
T wer 1 et awen @ o R 1s Hi
e @ | 30 e W 13 W i %
T & fire =t fraar aw o 7

A} 13s
B) 32s
C)37s
D) 49s

QU GHER i 3 U a6g ) R wago
o vERm R w7

A) 4
B) 3
C) 2
D) 1

ILiage No. 17 l]
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49. Amassof6kgis susbended by a rope

50.

—1 4
- C) tan [EJ

of length 2 m from the ceiling. A force of
50 N in the horizontal direction is
applied at the midpoint P of the rope.
What is the angle the rope makes with
the vertical in equilibrium ?

. —1f 3 - 5
A) sin (3) B) sin [EJ

_1f 5
D) tan (E]

A bob of mass mis suspended by a light
string of length I. It is imparted a
horizontal velocity V, at the lowest point A
such that it completes a semi-circular
trajectory in the vertical plane with the
string becoming slack only on reaching
the topmost point C. So V is

C

Vo

A) yJogl
B) 3g!
C) 2,2g!
D) /597

49,

50.

R

SR 2m i = AT
a9 T el T | 36 Wt % wen faeg P
R gl e H 50 N 7 & R e | &=

Hieht g o o 98 vl fre v F @
AT ?

-1 3 -1 S
A) sin [3) B) sin (6]

4 4 (5
C) tan (EJ D) tan (EJ

T goeh! aR Rt =g (2, 388 m &
FEA Y G-I AT T R | Ik
T Fred Brg A T TR TV, 2
VA 99 W ST QU Y gHE guad
& A gu A e g G w g B
T g e, WV, Rram ? 7

C

Vo

A) y2g!
B) Jagl
C) 2,/2g!
D) f5g1
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CHEMISTRY

51. Characteristic of a biodegradable
polymer is

A) They possess functional groups
like esters or amides

B) They are polyolefines
C) They are polyafomatics

D} Very high molecular weight -

| 52. Amongst the following the most basic
compound is

A} benzylamine .
B) aniline
C) acetanilide

D) p-nitroaniline

53. Alkyl halides react with dialkyl copper
reagents to give

A) alkenes

B) alkyl copper halides
C) alkanes

D) alkenyl halides

54. The highest electrical conductivity of the
following aqueous solutions is of

A) 0.1 M acetic acid

B) 0.1 M chloroacetic acid
C) 0.1 M fluoroacetic acid
D) 0.1 M difiuoroacetic acid

RGIPERE R
51. e mienm Y Rsyar &

A) 4 528 1 IR 3 SwEe
(e ) W) 9 AfE e &

B) ¥ wicielife &
C) 3 UieferifRag §
D) sftes wiferger Wi (9

52. frefifea # @ arcafim Sfyw widie 2
A) SeTREST
B) arffem
C) Tarfete
D) p-argierifem

54, mﬁwm%mﬁm
TfRTa sefFeld @
A) 0.1 M QiR whre
B) 0.1 M FiRIeffes wire
C) 0.1 M wirefifes wfrs

D) 0.1 M sRpRififes whie
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55. During vuicanization of rubber

A) Crosslinking between polymer
chains occur through suifur

B) Crosslinking between polymer
chains occur through carbon

C) Linear structure develops through
added sulfur

D) Sulfur do notinvolve in crosslinking
but acts as catalyst

56. Which one of the following methods is
neither meant for the synthesis nor for

separation of amines ?
- A) Hinsberg method
B) Hofmann method
C) Wuriz reaction

D) Curtius reaction

57. The rate of a gaseous reaction is halved
when the volume of the vessel is

doubled. The order of the reaction is
A 1
B) 2

C) 3

| NR BRI

55. W & Sy & N

A) I AT F fiT FITRIRRT aewt S
Mg AR §

B) UTRTR SE ¥ ot wtarfeT S
TTEs ¥ B §

C) Teg Howl U TR wem e B §

D) wiafaf § aewt wite e 8iar, ™

56. Frfafes el (Auem) ﬁ-%@%q%
TR & R € ot & oAl & s el
& fom?

A)ﬁ?ﬂﬁﬁu@
B) &% Aue
C) a8 Trrsm
D) =féaw feamm

57. T fifger® (V) whifsn i  # s
T fear e, @ S8 $it = gHE |
8, Al wfafskn %1 %9 B &

A) 1
B) 2
C) 3

D) O

D)o
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58. Teflon is used in cookwares because
of its

A) Excellent heat resistance
B) Chemical stability

C) Non-sticky nattire

D) All of the above

59. When a catalyst increases the rate of

the reaction, the rate constant
A) Increases

B) Decreases

C) Remains unchanged

D) May increase or decrease

60. Elimination of bromine from
~ 2-bromobutane results in the formation of

A) equimolar mixture of 1 and 2-butene
B) predominantly 2-butene
C} predominantly 1-butene

D) predominantly 2-butyne

61. The suitable reagent to convert
pent -3-en-2-ol into pent-3-en-2-one is

A) Acidic permanganate
B} Acidic dichromate

C) Chromic anhydride in glacial acetic
acid

- D) Pyridinium chlorochromate

58. CHAH I I FwAd () ¥ A
Tole | frm ST ® )

A) afe € e
B) -t e (wRfR)
C) Aifeesht J=r
D) S % guft
59. S T Feiferee (Iekr) whifn 13 (70)
1 TG 3, T T FLE ()
A) e
B) wedt
' C) F© &l el
' D) wrg gt @ we ot T 2

60. 2-5HIsgR A SfEF %1 oM (TRAfTH)
B W TRees P (wifm) B d 2

A) 1 ¥R 2-s9¢ 1 SRmiem R
B) feifrmest 2-=qd
C) Pzt 1=y
D) ettt 2-s9emA
61. pent-3-en-2-ol # pent-3-en-2-one o
it TR 2 e Suge fosie (sird)
A) tfifes wime :
B) tfafsw 2pme
C) TeREe TRifew Uﬁﬁ‘: 7 it

RICEEES
D) fffeirm itz
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62. Of the five isomeric hexanes, the isomer
which can give two monochlorinated
compounds is

A) n-hexane
B) 2, 3-dimethylbutane
C) 2, 2-dimethylbutane
D) 2-methyipentane
63. A reaction involving two different
reactants can never be
A) Unimolecular reaction
B) First order reaction
C) Second order reaction

D) Bimolecular reaction

64. Identify the correct statement from the
following :

A) Fischer and Newman projection
formulae are 2D representations

B) Fischer and Sawhorse projections
are 2D representations

C) Wedge-dotted line and Fischer
projections are 2D

D) Fischer form is 2D whereas
Newman and Sawhorse is 3D

85. Suitable medium for Williamsons ether
synthesis is

A) Water
B) Ethanol
C) Ethers

D) Mixture of water and ethanol

LTI

62. U TEEIATE FFE FT RGN A
Triveeliter g e ) 3 2

A) n-BRT

B) 2, 3-zEfuEa=EA
C) 2, 2-swfumeEga
D) 2-fremgade

63. 3 e farR & 5 wRfen = o Wi
Tt

A) FEmifTERER famm
B) w2 IMTEt famm

C) Ghe Ik fammm
D) smferrer famsm

64. fiifefes & ot s =1 v
A) T ik =g WSeeR 17 2D
TRy §

B) femw o wiete IRme 2D Bsera §
C) 3 1T A5 31K fir s 2D &

D)ﬁ;sr%wlﬁ 2D S=Ifeh =me gon gierd
3D

65. fafvmmam o Rt % R swgwa
ey § . '

A) Tt

B) suATe

C) $ud

D) art 3R et s frsor
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66

67.

68.

69.

70.

Natural rubber is unstable under highty
oxidizing environment because

A) Cis configuration
B) Trans configuration
C) Presence of double bond

D) High molecular weight

Example for a copolymer is

A) Polystyrene B) PVC

C) Nylon—6, 6 D) Nyion -6
Which of the following is used as
preservative in pickles ?

A) Sodium benzoate

B) Phenol

C) Butyric acid

D) Phthalic acid

Heating a mixture of Cu,O and Cu,S
will give :

A) Cu + 80, B) Cu+ S0,
C) CuO + CuS D) Cu,80,
2-methylbutane on reacting with

bromine in the presence of sunlight
gives mainly

A) 1-bromo-2-methylbutane
B) 2-bromo-2-methylbutane
C) 2-bromo-3-methylbutane
D) 1-bromo-3-methylbutane

66. Wpkiw T Teaftes faaeEfan & ro
3Tfer 8 iR

A) Tg siREmEE
B) TFH FIfFhEE
C) o< 9ig =1 S8
D) T AifeTeRIer 32

67. i % forg IeTeww @

A) uitafeefa B) PVC

C) i@ -6,6 D) et -6
68. 3rEN (freed) =t gifia W & o s

= 91 I R s R 2

A) HifsTm S

B) fe

C) =gfefe uftrg

D) enfereh Titrg

69. Cu,O 3R Cu,S 1 freor 7 el Ry 2o
A} Cu+ S0, B) Cu + 80,
C) CuO + Cus D) Cuy,SO4

70. ¥ % ww Y Iuffa § Sifm & Wy
it W 2- oyt ger w9 & Jard

A) 1-5m-2-Fremgesqed
B) 2-smt-2-Rramesa
©) 2:3-3-fremEeERA
D) 1-31-3-frergemge
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71.

72.

73.

74,

75.

How many EDTA molecules are
required to make an octahedral complex
with a Ca®* jon ?

A) Six
C) One

B) Three

D) Two

Which of the following oxides is
amphoteric in character ?

A) CaO B) CO,

C) Si0, D) SnO,

If o is the degree of dissociation of

Na,S0,, the van't Hoff's factor (i) used
for calculating the molecular mass is

A)1+a B) 1—c
C) 1+ 20 D) 1-2a

Which one of the following sets of ions -

represents a collection of isoelectronic
species ?

A) K*, CI-, Ca2+, Sc3*
B) Ba2+, Sré+, K+,82-
C) N%, 0%, F-, s2-
D) Li*,Na*,Mg2+,Ca2+
Tertiary alkyl halides are practically inert

to substitution by Sy2 mechanism
because of

A) insolubility
B} instability
C) inductive effect

D) steric hindrance

L

71. Ca2* 3THF & 1Y ATRREH HiIT8 S7H

% forq e ED T A BifereRIem ) srevasan
B g ?

A) B B) dim

C) D) &

72. froafafae srooms § 2 o afe o
Ui & 7

A) CaO B) CO,
C) Sio, D) Sno,

73. AR Na,SO, F1 Rediftram Rt o 2, -
HITRIER T Shewere 3 Fore Sgm shame
Jie €% = FH (i)

A1+ B) 1-o
C) 1+2a D) 1-2a

74, Frffeag s e S e o Tew § 3 o
ARSI Wi w1 g awta 2 2
A) K*, CI-, Ca2+, Sc3+
B) Ba2+, Sr2*, K+ 52
C) N, 0%, F-, 82-
D) Li*,Na* Mg2+,Ca2+

75, S\2 tFrem @ R e dewEeg

TN 9 & Gl w6 1 398 & iy
A) TRl

B) sRfafere

C) wsfFea shae

D) Vi g

tagi' No. 24
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76. Which one of the following type of drugs

78.

79.

reduces fever ?

A) Analgesics
B) Antipyretics
C) Antibiotics

D) Tranquilisers

. What products are expected from the

disproportionation reaction of
hypochlorous acid ?

A) HCIO, and Cl,0
B) HCIO, and HCIO,
C) HCl and CL,0
D) HCl and HCIO,

Reaction of trans-2-phenyl-1-
bromocyclopentane on reaction with
alcoholic KOH produces

A) 4-phenylcyclopentene
B) 2-phenylcyclopentene
C) 1-phenylcyclopentene
D) 3-phenylcyclopentene
Increasing order of stability among

the three main conformations of
2-fluoroethanol is

A) Eclipse, Gauche, Anti
B) Gauche, Eclipse, Anti
C) Eclipse, Anti, Gauche
D) Anti, Gauche, Eclipse

76. Fr i e A caT A @R wA BT & 2
A) e
B) wiiifeTw
C) wsfeaq
D) gt -

77. TRUEERE TS i e Rt .
SR A # A SRl 6 R SR R ?

A) HCIO, 3R CLL,0
B) HCIO, 3R HCIO,
C) HCi 3k CI,0

D) HCI 3%k HCIO,

78. STl KOH & | wiafssan .
TG-2-ThAe-1 - TEeeie i
WFnE___ W |

A) 4-Frieraio<H
B) 2-friwdseiio<
C) 1-fEivdeeii=di
D) 3-frier@eeii<H

79. 2- R[S & o gET HRETE A
feran (Rfafafe) & 33w (ant) 2

A) ey, T, T
B) T, R, T
C) ufered, T, M=
D) &, e, iR
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80. The ionic mobility of alkali metal ions in 80. ufFyarg (Srefr) wiege & srewet e
aqueous solution is maximum for ST it ST A (rfrefierar )
A) K+ S §
B) Rb+ A) K*
C) Li+ B) Rb+*
D) Nat C) Lit
D) Na*
81. Which of the following compounds is
least acidic ? .
R 81, ﬁw%ﬁgaﬁﬁaﬁwmﬁﬁa(aﬂﬁg)mﬁ
ik U & 7
B) H,O
A) H,8
C) H,Se
B) H,O
D) H,Te
C) H,Se
D) H,Te
82. Toluene is nitrated and the resulting
Product is reduced with tin and 82, Eﬁ?@q TRT 2 afn gitvTRErEY e
hydrochloric acid. The product so (Seaz) B m%@ﬁ}h@g%mm
obtained is diazotised and then heated B AT R | 39 YT ST TeT Taides 2
with cuprous bromide. The reaction aﬂtﬁ;raﬂma’tﬂg%mnwﬁmm% |
mixture so formed contains Sfcifsran firsr & e 2
A) mixture of o- and p-bromotoluenes A) o- 3R p- ST w
B) mixture of 0- angd p-dibromo B) o- 3k p- maahﬁaﬁ,,;[g =T Ty
benzenes ' ' 5
: C) o- - St =
C) mixture of 0- and p-bromoanilines ) - 3R p- e o
D) mixture of o- and m-bromotoluenes D) o- 3t m- AT 1 R
r——;
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83. HBr reacts with CH, = CH - OCHg,

under anhydrous conditions at room
temperature to give

A} CHCHO and CHgBr

B) BrCH,CHO and CH4OH
C) BrCH,— CH, — OCH,
D) HyC — CHBr — OCHjg

84. Phenyl magnesium bromide reacts with
methanol to give

A) a mixture of anisole and Mg(OH) Br

B) a mixture of benzene and
Mg(OMe)Br

C) amixture of toluene and Mg(OH)Br
D) a mixture of phenol and Mg(Me)Br

85. The pyrimidine bases presentin DNA are
A) cytosine and adenine
B) cytosine and guanine
C) cytosine and thymine

D) cytosine and uracil

86. Oxygen exhibits positive oxidation state in
A} F,0 B) CO
C) N,O D) NO

83. HBr, CH, = CH — OCH, % &/ F &
TrmE W et (Tegy) wfifeafe &
_ WwaRfrmEm? |

A) CHLCHO 3R CH,4Br

B) BrCH,CHO 3ft CH,OH
C) BrCH,— CH, — OCH,4
D) HgC — CHBr — OCHj

84. et TR FiTEs S Rt & @
P yRifFn sw g |

A) TFRE 2R Mg(OH) Br =1 fasm
B) sifsm afit Mg(OMe)Br T frsrm
C) a2 3R Mg(OH)Br =1 gt
D) ﬁr—ﬁ_a 3t Mg(Me)Br =1 T

85. <y 3 Iufem ffdife swa 2
A) ¥R st =fA
B) &2 3t =i
C) ¥R i At
D) ¥faa ok Ui

86. aftaefier Oty offfRT e __ 3

weifda F@r e |
A) F,0 B) CO

C) N,O D) NO
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87. E° values for Zn and Cu are — 0.76 V
~and + 0.34 V respectively. The anode
when they are coupled is
A) Cu
B) Zn
C) Depends on electrolyte
D) Depends on salt in the salt bridge

88. Larger number of oxidation states are
exhibited by the actinocids than those by
the lanthanoids, the main reason being

A) 4f orbitals more diffused than the
5% orbitals

B) lesser energy difference between
5f and 6d than between 4f and 5d
orbitals

C) more energy difference between 5f
and 6d than between 4f and 5d
orbitals

D) more reactive nature of the
actinoids than the lanthanoids

89. Which of the following factors is of no
significance for roasting sulphide ores
to the oxides and not subjecting the
sulphide ores to carbon reduction

directly ?

A) Metal sulphides are
thermodynamically more stable
than CS,

B) CO, is thermodynamically more
stable than CS,

C) Metal sulphides are less stabie
than the corresponding oxides

D) CO, is more volatile than CS,,

(AU A

87. Zn 3 Cu s E° I sl ~ 0.76 V 3 +
0.34 V¥ | 5 3 i & o IS B
A) Cu
B) Zn
C) wiwite W fnft

D) uree foret & wiee () wt fnfk

88. T-YATSEH & A ¥ URrisey S HET
T ARISIA W yeifa #@ & | s
TG HR0T B

A) sf nfieed N ga § 4f anfelzera
Fftes emd € (Rewg)

B) 4f 3fk 5d anfdfec@ & gorn A 5f afk
6d fdeen % 9 %0 Sl FR R

C) 4f 37 5d aTifeiee@ & gorm #f 5f iR
6d anfsicew * it s =t ST ?

D) wigATssd 1 ga1 § ufteisey @i
31ftrs wiframeie e 3

8o. 7 T o |1 SR Hehise TR Y ST

W wfsia e o foTe weayel €t & ofk wemee
ST 1 T T Y h Fe o srvarfere T
Eaci i
A) e FEHITS, CS, ¥ Tl &1
T it fRR R .
B) CO,, CS, & uriismmifies &9 7 31fires
fer R
C) fiea (uTg) wethe Taft atfamiss
o #  feR R
D) CO,, CS, & iftw aifdr &

5CE

F-age No. 28




A R

90. Which one of the following is the correct
statement ?

A) Boric acid is a protonic acid

B) Beryllium exhibits coordination
number of six

C) Chlorides of both beryllium and
aluminium*have bridged chloride
structures in solid phase

D) B,Hg.2NHjy is known as ‘inorganic
benzene'

g1. Green chemistry deals with
A) Keeping environment safe
B) Efficient synthesis using catalysts
C) Use of renewable resources

D) All of the above

92. Which of the foIIO\;ving is an oxidant ?
A) LiAlH,
B) NaBH,
C) KMnO,

D) None of the above

93. Which among the following is
responsible for greenhouse effect ?

A) Methane

B) Chlorofluorocarbons
C) Carbon dioxide

D) All of the above

90. s Pr=rfifea § & U Ud I §

A) e i, TR TS

B) SR ©: % G- G <1 §

C) 3 afferm i TwffEn %
FeiEeE 3 3 = ¥ fHeE FWEe
G 8

D) B,Hg.2NH, T8 ‘TR S~ AT
EAGIE

91. 1 HiR T e Bl 8

C) frasa e (et & i)
3 YW FE
D) It i & fere

02, Frafafaa ™ & 9 @ AR R ?
A) LiAH,
' B) NaBH,
C) KMnO,
D) T & ¥ T

93, s afomm (IRt $hee) % T
JAEHET ©

A) =

B) TR

C) T THeTEE

D) I |t
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94. Whichamong the following groups have 94. Frfifaa # & ¥ &1 I o- T i

o-and p- directing effects ? p- SR T ST L E 7
A) —OCH4 A) —OCH4 |
B) =Brand —CO,H B) ~Br SﬂT—COQH

C) —NO, and ~-CO,Me

C) —NO, sR-CO,Me

D) —CHg and ~NO, SR L
Al ] T 2

95. Direct estimation of amino acid by

95. SRR 233 g e v @ S

volumeiric titration is difficult because

TfEeNT Ficd R Tith
A) Zwitter ionic nature "of the
compounds A) gy %1 [t AT F=
B) Compounds are unstable to acidic B) whidieq TRife qen i S . |
and basic conditions o sIfer ()
C) Non availability of suitable c) mﬁ%ﬁﬁmﬁﬁ?@ﬁﬂ -
indicators ;
D) A ids do notreact with eith %) ﬁFs. KL LT
) Amino acids do not react with either e

bases or acids

06. Frfafad ¥ ¥ wifcrtsiast H1 |1 ¢ ?
96. Which among the following would be

polymerizabte ? A) g TS

A) Benzoic acid B) wiEfie ufire
B) Adipic acid

)iAdip C) iz T

C) Acetic acid
D) 3T

i D) Ethanol [m LoE A
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97. Major product obtained by the reaction

97. FESH HIRH HSH § A % W

of n-propylchloride with benzene under nSieeete aAtfw (famem) T sa
Friedel-Crafts condition is o Higee wiee fohat Siran @ |
A) n-propyl benzene A) n-NUH S
B) Isopropyl benzene B) YEniTe SR
C) Chlorobenzene C) aiﬁi’laﬁq
D) ¥ & Fi T

D) None of the above

98. AFHARE TEF FoIY I 8

98. Bakelite is an example for

. A) THTATRES
A) Thermoplastic
B) eEemX
B) Elastomer
C) umiae
C) Thermoset
D) TR

D) Oligomer
99. Fimfeifaa o & uferles wférs o Y

99. Which among the following is an

example for aliphatic acid ? Sl
A) Benzoic acid A) I
B) Adipic acid B) TR i
C) Salicylic acid C) wfirters: Tfe
D) Phthalic acid D) eferes Tfe
100. Vulcanization is the process used to 100. F@ W i —-———aﬁ%ﬂ;mﬁ
make natural rubber SR SIS |
A) Have better strength A) =] arRa (W)
B) Cross linked structure B) % forhe TR
C) Elastic C) Fuifeeh
D) Both A) and B) D) A) 3t B) dFt
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Physcis and Chemistry Answer Key (D)

Ans. Key

Q. No.

76
77

78

79
80
81

82

83
84

85

86

87
88

89
90

91

92

93

94
95

96

97

98

99

100

Ans, Key

Q. No.

o1

52
53
94
55

56
57
58
99
60

61

62

63
64
65

66
67
68
69

70
71

72
73

74
75

Ans. Key

Q. No.
26

27
28

29

30
31

32

33
34
35

36
37

38
39

40

41

42
43

44

45

46

47

48

48

50

Ans. Key

Q. No.

10
11

12
13
14
15
16
17
18
19
20
21

22
23

24
25




